o
[N

o
[N

...........

...........

.......

.......

.............

.............

..

L

< o cot(y) >
o
=
a1

o
N

.............................................

= C
IS E
~0.15F
s E
° 0.1
\" r
0.05F
OF
-0.05F
-0.1
-0.15F
_9_-0\»’2-'
IS
o4
il

ey

P JUUUE TUTRUURIE | WU N

W[TTTT T

-2

-1

0 1

2

0.95!

W[TTTT T

3

TP n (PCA to beamline)

obal

-2

-1

0 1 2 3
TP n (PCA to beamline)

MKFIIbase _RECO

—=— DQM_VUUUI_ROU0U00000T__Global__

—e— DQM_V0001_R000000001__Global__mkFitCHIN__RECO
—— DQM_V0001_R000000001__Global__mkFitNDOF__ RECO
—— DOM_V0001_R000000001__Global

mkFitNDOF2__RECO

100

A OO @
o O O

(@)
TIT T T[T [TI [ IP [T T[T [T [ TTr Tt

< 00, > (M)

20

.............

..

..

= 100

<od,> (um
o
TrT

N
o
I

........

........

........

RatioI
g

[y

0.95

RatioI

iy
TTTT] T

W

-2

-1

0 1

2

- 0.95
3

|
w

TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

e

(O R B R LR R RN R RNl RRR R RRRRN RN RN AR RARRN LRRL

=2

-1

0 1

2

3

TP n (PCA- to beamline)

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


